Name: ______________________

Maple Assignment #1

Open a new Maple worksheet (preferably in “Document” mode). Find the answers to the following questions and “copy-and-paste” your answers (and only your answers) into this document. Save it and send it to me via email. If you have trouble with cut-and-paste, you may print this document, add the answers manually, and submit that piece of paper.
Maple is a very sophisticated (and expensive) computer program. It can be used in many ways:

As a Calculator

1. Compute [image: image2.png]142+ ++s




2. Compute [image: image4.png]



3. Approximate [image: image6.png]e? +m3



 as a decimal number to 10 places. 
HINT: You must pick the symbols [image: image8.png]


 and [image: image10.png]


 from the “Common Symbols” palette on the left, you cannot type them in. To approximate a number as a decimal, right-click on the blue evaluated expression and pick “approximate”
4. Approximate [image: image12.png]logz(41)




HINT: [image: image14.png]logy(x)



 in Maple is written as “log[b](x)”
As an Algebra Tool

5. Simplify [image: image16.png]



6. Factor [image: image18.png]



7. Solve [image: image20.png]



To Graph functions

8. Graph [image: image22.png]f(x) = x-In(x?)



 where x is between -3 and 3
HINT: To graph a function such as [image: image24.png]flx)




, for example, you could either type [image: image26.png]


, hit ENTER, and pick “Plot” from the right-click menu on the blue expression, or type in manually “plot(x^2,x=-3..3)”
9. Graph the supply function [image: image28.png]flx) =2%



 and the demand function [image: image30.png]glx) =20 —4x



 in one coordinate system as x  is between -1 and 5, and locate, approximately, the equilibrium point.
HINT: To plot two functions in one coordinate system, write them in curly brackets using the plot command. For example “plot({1-x^2, x^3}, x=-3..3)” would plot the functions [image: image32.png]y=1-x*



 and [image: image34.png]


 together in one coordinate system.
To solve Systems of Equations
10. Solve the system of equations [image: image36.png]3x—4y=1



 and [image: image38.png]7x — 5y =2




HINT: To solve a system of equations, use the typed “solve” command, putting both equations in curly brackets. For example “solve({x + y = 0, x – y = 0})” solves x+y = 0 and x-y = 0
